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General Instructions :
(1)) The question paper comprises two Sections, A and B. You are to attempt both the

sections.

(ii)  All questions are compulsory.

(l:'t'i) All questions of Section A and Section B are 1o be attempied separately.

(tv)  There is an internal choice in three questions of three marks cach, two questions of :
Jive marks each in Section A and in one question of two marks in Section B. ‘

(v)  Question numbers 1 and 2 in Section A are one-mar: questions. They are to be
answered in one word or in one sentence. ‘

(vi) - Question numbers 3 to 5 in Section A are two-marks questions. These are to be
answered in about 30 words each.

(vii) Question numbers 6 to 15 in Section A are three-marks questions. These are to be
answered in about 50 words each.

(viii) Question numbers 16 to 21 in Section A are five-marks questions. These are to be
answered in about 70 words cach.

(ix) Question numbers 22 to 27 in Section B are based on practical skills. Each
question is a two-marks question. These are 1o be answered in brief.
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medals . . V . toarine violet flowers with
A Mendelian experiment consisted of breeding pea plants bearmg ® iolet

. . : - —
pea plants bearing white flowers. What will be the result in F| progeny -

et for=a w97 ° B At st -wwea fafao |

Write the energy conversion that takes place in a hydropower plant.

gfe ferelt Miefia edur gra 3o o T famm & fft ot fufa = oo =23 &1 o= =0
A s ans i s yfafem e 2, A el FEgEr #12 2 FE T H T2 S
foru qraifena fepror 3mg Hifem |

If the image formed by a spherical mirror for all positions of the object placed in front
of it is always erect and diminished. what type of mirror is it ? Draw a labelled rav

diagram to support your answer.

v Al B | AT xmmqﬁmm%mmmhz
re—S A U Ak R ' 3 ER # TEEE et
Wﬁﬁ@nwﬁmmmﬁq&mmmﬁw;

& enmpound X’ on heating with excess conc. sulphuric acid at 443 K gives an

unsaturated compound Y’ “X" also react
s 7. Identify X’, *Y’ and ‘Z’. Write. the equation of the chemical reaction of

ga ' ' o L .

id in the reaction.

¢ with sodium metal to evolve a eolouriess

formation of *Y” and also write the role of sulphuric &

[B*]

[P.T.0.
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(@) Name ‘."{t‘ slliﬂ:tlor_\: r;ccc]‘r[ur and m.w ol Iirt'l*>1'.§-’ l't‘.t‘ltll‘;t-*l.‘ pluunmhunnn beings.
(&) Write a ang 1 I the given flow ehart of neuron through which information

Il'iﬂl\.t.jl:\'. as an electrieg] Impulse,

{__[?_‘_“_‘_d_‘_'_"_[}‘ ] — l a I —— ’hl U l End point of Neuron l

6. aaaﬁﬁsuf?rba%xrmw,faqﬁmwmm%,ﬁw%ﬂ%ﬁ@ﬁﬁﬁﬁ
%%‘i?ﬁmwmwﬁﬁmnt.:.ss.z.{ii)oszws“i?
ey
(@) S5 1 19 g frfa |
(®) 2 forega Ay ot § s o SIHATE 100 W: 220 V T80T G&R T 60 W: 220 V 2,
ﬁaﬁﬁgﬁﬁﬁ%mmﬁmﬁﬂiﬁﬁﬁ%wﬁﬁgﬁmﬁﬁﬁmzmva
aﬁaﬁﬁaﬁﬁmﬁgﬁﬁu@%ﬁrmvﬁmﬁ%?

Show how would you join three resistors, cach of resistance 9 Q so that the
cquivalent resistance of the combination is (i) 13,5 . (1) 6 Q7
OR
(@) Write Joule’s law of heating.
(b)  Two lamps, one rated 100 W: 220 V. and the other 60 W: 220V, are connected
in parallel to electric mains supply. Find the current drawn by two bulbs from

the line, if the supply voltage is 220 V.

7. m%m%ﬁaﬁ%ﬁaul%“mmmmﬁﬁam”ﬁww
ﬁwmw%ﬁmﬁw%ﬁa%mﬁ@ﬁ%mmw]
3y 5

fopeft ofg Y amar & &1 dreqd @ ?WSIWWJﬁémﬁﬂcmqﬁW@qﬂ

o ST R TET @ T HIS I B 20 o WIBE gt H1 of 5T ok gy 3 | 51
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'Btdit the fa\\\ of I‘t,hdt.tlm‘a of fif'h[ E "‘5”"“* ”'L term *ahs
m o
Ldll!m and \\lii&, an L\prn.‘w!nn to relatc it “'“h the pee i |
fate speed of | ht |

OR
What { i
i d; IS meant by power of a lens ? Write its ST unit A fors T
ength 40 em and HI. A student uses a2 €8 © s
and another of -20 cm. Write :
- the nature and power of each lens.
i f 3

(@  JFafy  (p eI (¢) =y
Name the : .

e the hormones secreted by the followine endocrine glands and snecife ¢
tunction of each - . S
(@) Thyroid (b Pituitary  (¢) Pancreas

<+ U.E ﬂq‘ f-'-'_:-_;tat‘.‘ | ?ﬂ T ——q'q' 5.’:;‘5," '::!—'r?-'r "j:-?-;-—”-n
W%nammmmrﬁu T F wrEa
SAIYH T 8 e § ? FH I i gfee 2 % fore smm #ifsg | 3
Write one main difference between a asexual and sexual mode of ; reproducti -
o roduction. Whch

species is likely to have comparatively better chances of su rvival — the one
k al - U ¢ repr ol LCT

asexually or the one reproducing se xually ? Give reason to justify your
S 14" aAsW et

(a) Toret =TT, fomeht srefa am 3 2 &1 5fF 33 srsi w ink = 2, Ty
=1 g413T |

(b)  UTHC Foregd 1 37=B1 =TT 741 S g =1 Fovvers =5 2 2 ? &P &g )

(c) ﬁgaamg%mnmzﬁmggﬁmmﬁmaﬁmwm% 7 BFY gifa | 3

(a) List the factors on which the resistance of a conductor in the shape of a wire |
depends.

(b) Why are metals good Conductors of electricity whereas glass is g bud
conductor of electricity ? Gjve reason.

(c) Why are alloys commonly ygeq ; in electrical heating devwcs 9%m

'."P.age5
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What is a dam ? Why do
i, ¥ o \r\'e Seels . - . :
eek to bujld large dams ? While building large dams,

which three main problems g
s sho i ;)
uld barticularly be addressed to maintain peace among

local people ? Mention them.

mmm%mﬁﬁmzmﬁmﬁ%wwﬁwﬁ@mﬁw%

mqﬁwaﬁtaﬁmﬁrﬁmmﬁmnﬁ;g@;ﬁmﬁa@ﬂﬁmaﬁtaaﬁ?

a&mm@wﬁwwﬁaﬁmmwsﬁﬁwmw@wmaﬁﬁ

Hﬂwa?raa@hﬁ%%qwlmzmﬁaﬁgaﬁwﬁw&ﬁmm—m%%

% S 21 79 3 w3 %wwmgnmﬁ,amqmag%ﬁsﬁwwsﬂw

ST IYA H |

(a) sﬁ%@?ﬁmﬁﬁémm?ﬁamwl

(b) ﬁ?ﬁ?ﬁtﬁ,%ﬁﬁ%ﬂ@mﬁ%%ﬁwwwmé?aﬁgﬁﬁml

(c) wmﬁﬁwqﬁ@ﬁﬁqu@uﬁ%ﬁwﬁmﬁ&mamﬁﬁaqﬁﬁaﬁ
o |

Students in a school listene '
: ; a ¢ stened to the news re; he ‘ni

the news read in the morning assembly that the
mountain ot garbage in Delhi, suddenly exploded and various vehicles got buried
§ iec
under it. Several people were also mjured and there was traffic Jam all around. In th
R " c
brain storming session the teacher also discussed this issue and asked the students t
. >nts to

find out a solution to the problem of garbage. Finally they: arrived at two main point
- 4 S

— one is self management of the garbage we produce and the second is to generat
- &l Ry ole e

less garbage at individual level.

(a)  Suggest two measures to manage the garbage we produce

(b) As an individual, what can we do t0' generate the least garbage ? Give two

poi nts.

: , > teacher instilled in hig Ciatics ke - -
ot two values the teacher 1n students 1 .
ist t 1 this episode. Page 6
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(b)  erelt TR wiqear lifire 1 A Wﬁmmwfﬁuﬁmqmm%w
 sarfRerm 2 # 1 g fien 8 S T S o) st forfian

(a)  Why are most carbon compounds POOT condyctoyg of electricity ?

w

(b)  Write the name and structure of & Saturage compound in which the carbon
atoms are arranged in a ring. GIVC the numbey of single bonds present in this

compound.

4. Tl qrameht & qrier fim 3o e TR Il 0 1 wifean araiETss H1 FerE
ST TR | et <6 wmnf 6 TR N seufia g frmen wlam w0 @ 0d
S8 w1 ¥ Rrer & wanfea foen T FE A 3 et ay | 9 At st
HHIFTO 01 56 e 3w & forg wlew forfia | afy 4@ urg fedt s 3 % g
ﬁwﬁaﬁ%ma%,ﬁcﬁﬁamﬁaﬁﬂmw%ﬁ@m 3
EEC]

qehlgi i wTfese 3R @t s & foru swi fipe s aret foreft e 1 pH w14 2 |

A A 3 3 o A 7
39 a1 F YR 31 38 Fwior & fau gemfie wie fafeaw | g9 < sy 6
g1 sH13T |
2 mL of sodium hydroxide solution is added to a few picces of granulated zinc metal
taken in a test tube. When the contents are warmed. a gas evolves which is bubbled
through a soap solution before testing, Write the equation of the chemical reaction
involved and the test to detect the gas. Ngme the gas which will be evolved when the
same metal reacts with dilute solution of 3 strong acid.

OR .

The pH of a salt used to make tasty anq crispy pakoras is 14. Identify the salt and
write a chemical equation for its formatiop, List its tWo USCs.

fairer (e aifvfmansi s o dre) 3 T 1 A S ST bR S
fagaﬁaﬁanaw@?ﬁ% |mmﬁﬁqﬁmaﬁxﬁm,ﬁﬂﬁm,maﬁt
wgﬁﬁy@ﬁaﬁ%,%mwﬁﬁmgﬁWW| 3

form of heat or light or electricity

15.

L eactions Fequire enerpy oiher in e

. osition reactio gy eithe : ; " .

Decomp Sy Writey cquation cach for decomposition reactions
- one ¢

; t
for breaking dowin i lectricity
i lled in the fO[‘m f l ht a[’ld elc .
_ re energy is suppiic of heat, 1€
. |P.T.O.
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{a)

(b)

(i)

(h)

{a)

(b)

(a)

(b)

(a)
(b)
(c)

(d)

(a)
(b)
(c)
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a .

mammfm%nwmmmm%ﬁaq;
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A student is unable to sce clearly the words written on the black board placed at
a distance of approximately 3 m trom him. Name the defect of vision the boy is
suttering from. State the possible causes of this defect and explain the method
of correcting it.
Why do stars twinkle » Explain.

OR
Write the function of each of the following parts of human eye :
(1)  Cornea (ii) Iris (1i1)  Crystalline lens  (iv) Ciliary muscles
Why does the sun appear reddish carly in the morning ? Will this phenomenon

be observed by an astronaut on the Moon ? Give reason to justity your answer.

w9 o TR g1 37991 1 Iooi@ HIT |

YR § HTa 1o - T= #(4L % 76 &1 9 ferfigu |

FMfer=g 37 fera & e areal &1 %1 fafigu |

T 37 R % FereAl & e iE U WaTh A fafiau | 5
—

I 1 gfeamT fafae |

ﬁ%m?ﬁwm@ﬁqaﬁtwmwﬁqﬁa%wmwm

i -

(i) o ERFR | .

(i) it et fereh & 3 g 8 7 TA FA R |

(i) Fore v e 9 S AR |
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(@) M
(L) R

) w

(d)y w

(a) DL‘HHL‘

(b) N

(¢) Dy

exXcretory system which perform following functio

(1)
(11

ention any ty compone

"ace the movement of ox)
rite the tunction of v

rite one Structury

CXeretion.
me the basie filtration un

aw EXCretory system in

torm urine.

) isa lnng tube which ¢

alves present in hegy e

al difference between the Composition of

its of bloog.
genated bloo i), the body.

Cn atria and

OR

It present in the kidney,
human beings and |

1%

llects urine from kidney.

(1) store urine unj] it is passed out,

(b) ﬁﬁmﬁﬁﬂﬁwﬁwﬁa}qﬁaﬁﬁﬁﬁq |

(a)  Write the function of following parts in human fem

(i)

ale reproductiye

Oy (i1)  Oviduct (iii)  Uterus

(b)  Describe in brief the structure

and !‘U}]L‘I'i(‘ﬂ of [?!EICC!]IH.

(a) WWWWWWII

(b) g st 1 T Rigr ey

() forege et & A9 fGU T i a5y gt porfee |
SR (i) 59 (iii) fervyery qera

(1)
(a)
(b)
(¢)
Dowﬂl%a

. ‘e 1ot z i %
State Fleming’s left hand ryje,

ature (i) Brushgs (iii
étg];:om: https://jsuniltutorial.wee

o b T I % “tric motor.
write the principle of Working of an electric!
rite

‘ 4 y s of an electric motg,
lain the function of the fol]owing partssofan-e or,
Exp ;

)blgﬁ}?&;th}'i AE

Ventrye

darter

v

les.

thel the following

Shste

and '~'k’i1?\_

organs of

m :

“)Jl.'.\ '

]

h
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(a)

(b)

(a)

(b)

(a)

(b)

(c)

(a)

(b)

(c)
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=T =t forfigm |
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Write the steps i -
steps involve * extract; ; - :
o ' I d in the extraction of pure metals in the middle of the
activity series from their carbonate oreg
HU‘\ ].'S conper extracte 2 . " -
> Copper extracted from its sulphide ore ? Explain the various steps
supporte ‘hemical eauatione . . ;
Pl d by chemical equations. Draw labelled diagram for the electrolytic

retining of copper.

Y FTEd Grvlt @1 fawm <famem, Sgeve qut dvies % yrfie vl %
IV Bl 9T 2 | 39 A1 GATH1 o1 Uk~ U 3uedfay 31 Ueh - Hie1 o gt S |

39 AT @1 A8 ferfan foem gduyw 7z guitan fo foeht awa 1 o) gean 39

QTHTY] e HE 1 el | AU FATHE e 2 |

Fyfek 3rad e ferfae |
The modern periodic table has been evolved through the early attempts of
Dobereiner, Newland and Mendeleev. List one advantage and one limitation of

all the three attempts.
all showed that atomic number of an element is a

Name the scientist who first of
more fundamental property than its atomic mass.

State Modern periodic law.

10
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Section — B

22. T} o :
RIS foverds 8 e on 3 35 T ST v e o Y e 35 <o
R SIEC
List the ol
'stthe steps of Preparation of temporary Mount of y Jeaf peel to observe stomata. .
23. 4.0 cm Serd . ,
> B BIE far 20 om w18 G & Freht 31 ofw F wewis w5 O ®

3()Llll®m%%]mwgﬁﬁmﬁwﬁwmﬁ%mm
'QWQWW‘O‘WH@WFthWﬁ
maﬂ‘ﬁﬁﬁmwwmaﬁmw,

An object of height 4.0 em is placed at a distance of 30 cm from the optical centre

O” of'a convex lens of focal length 20 cm. Draw a ray diagram to find the position
and size of the image formed. Mark optical centre ‘O’ and principal focus ‘F’ on the

diagram. Also find the approximate ratio of size of the image to the size of the object.

4, Torelt gfeiers, ﬁwuﬁﬁmm%,ﬁw%aﬁgﬁﬁm(n#ﬁ(sﬂ%%ﬁ%aﬁawﬁ
fersar=r (V) & A = few e srEm

[ v (3t

)l(qfamt) ’0.1 0.2
T (1) 3 FaEr (V) 3 s o it st st v (R) s i | "

The values of current (I) tlowing through a given resistor of resistance (R), for

the corresponding values of potential difference (V) across the resistor are as given

3.0 | 40 | 5.0

2
Ln
g

0.5 | 1.0 ’ 1.5 | 2.0

03104 |05]|061|08]1.0

below : '

10115 ]201(25)]30]40 | 50

V (volts) 0.5
01 102 |03 |044 03 0.6 | 0.8 | 1.0
nce (V) and determine the

I (amperes)
Plot a graph between current (I) and potential differe
re.siStaW(lga)je@frﬁhﬁrﬁﬁ%ggﬂﬁtutorial.weebly'.corP/l

- PR3O,




20.

o Downloaded from: https://jsuniItutorial.weebly.com/l,2

&mﬁw_mﬂmﬁmﬁwqﬁﬁmwmmmmnm
%ﬁmwm????ﬁﬁfﬁarmﬁm, afafan =1 TrETaAE FHE 741 34
“gU
\N(h;" i.. l STV ] » 3 . . 2 * «
L_mm_h; {[) Tu\ f,{f when g solution of sodium sulphate is added to a solution of barium
C E! 1 ' LIS ) o ‘ - - .
“1 10 @ test tube | W”IU Ccquatjon for the chemical reaction Inw)l%‘cd and

name v v e : ¢
1¢ the type of reaction in this ¢yge

SIS & o - et \ '
quﬁmdﬂmﬂfﬂf@ﬁwqigwgﬁm#faﬁ:{mﬁ?:rﬁw

Y fafrm $ifsu |

o ?ﬁx?u%mam-ﬂﬁfnmmmhfmwvﬁﬁ@m AT5E %1 et ga
FR{IBT%‘Jaﬁmnm?@ﬁwrm%sﬁm@@w“w (Emaw)?‘fl:li‘“' |

Name the process :
cess by which an -
- } _ Y which an amoeba reproduces. Draw the various stages of it<
cproduction in a proper sequence S stages of its
OR

A student is viewj -

A STUC S viewino N e

5F disenrg] g under a microscope a permanent slide k;h(m-'ing various st

asexual repr "1i . P : / S stages

al reproduction by budding in yeast. Draw diagrams of what " &ra
= - vhat he observes

(in proper sequence)

A student added few picces of aluminium metal to twq test tubes A

aqueous solutions of iron sulphate and copper sulphate. In the -~d~nd ’ C('mtaining
experiment, she added iron metal to another test tybeg Cand D ?Lu)de.pan . e
solutions of aluminium sulphate and copper sulphate, o S

“In which test tube or test tubes will she observe colour change 2 i
- VN the basis of thi
is

experiment. statc which one is the most reactive metg| and why

——




